0123456789-123456789-123456789-123456789-12345
#1.(A)  #2.(B) #3.(C)  #4.(D)  #5.(E)

Q(0-4): O

Answer: B

gotoxy(n*10+4,1);

0123456789-123456789-123456789-123456789-12345
#1.(B)  #2.(B) #3.(C)  #4.(D)  #5.(E)

char modelAns[10] = ""ABCDE"';

char userAns[10] = "----—- "
int cal _score(){
int n=0;
if(modelAns[0]==userAns[0]) n++;
return n;
¥ score = cal_score();
printf(""%i\n", score);
mc2010
< Idf me.txt
char t[100], s[100]; t[] | ABCDEABCDE
int i, cnt=0; S[] |AAAAAAAAAA
t[] = "ABCDEABCDE"; BEBBBBBBEB
s[1 = "AAAAAAAAAA™; CCCCCCcCcCC
fgets (t,20,fp); .
while (! feof(fp)){ // # AR
fgets (s,20,fp);
if (s[_]==t[_]) cnt++; | F R
if (s[_]==t[_]) cnt++;
if (S[_]::t[_]) cAat++; S,
if (s[_]1==t[_1]) cnt++; R AR
T LI==tL D) et +Tor dent 0: 2
1 printf (...cnt); Student 1: 7

mMc2010 Average = 5.6




char t[100], s[100];

int i, cnt=0; LRk me.tt

Student 1: 2 t[]1 | ABCDEABCDE K.
Student 2: 7 SI1 sCorr[0]
Student 3: 4 sCorr[1]
o sCorr[2]
Average = 5.6

/1 K=

k=0;

fgets(s,100,fp);

for (i=0;i< Ji++) qCorr[5]++;

if ( ) sCorr[O]++;

k=1; qCorr[0]++;
fgets(s,100,fp);

for (i=0;i< ;i++)

if ( ) sCorr[1]++;
mc2010 3
char ans[100][20]; 0123456789
int i, j, cnt=0; ans[i] Q0 | ABCDEABCDE
1 | AAAAAAAAAA

if (ans[3][0|]==ans[0]|0Y) cnt++; 2| BBBBBBBBBB

if (ans[3][1}==ans[0][1])) cnt++; 3|CCCCCCCCCC

if (ans[3 ==ans[O0]f2})) cnt++;

if (ans[3 ==ans[O]§ 3] cnt++; ans[3][2]
iIf (ans[3 ==ans[0][4]) cnt++;

iIf (ans[3]{5]==ans[0][5]) cnt++;

if (ans[3]]6]]==ans[0]}6}]) cnt++;

for (i=0;i<??;i++)

for =0;j< J++)

if (ans[3][_]==ans[O0][ _]) cnt++;

mc2010




